_ ; ) £
b}~ Find The meé,f,;,ﬁf@ of De i‘i’{){avf on The cwVe HT“ A j:%“%

C«ﬁ‘?"ﬁ%f te The F(;f,?/{“ (% )3)

K
(72— What is d_ f sn8)de 7
dx Va '

13- éfﬂ”\f;,g,f/&ﬂié j\ MH Ci‘?f :
(x-5)
|4~ [Find The area enclrsed }? The cueves "33»;2%»[ and
= g -2

« o . i ] P 1 ’ - ) }LW ) |
Vh-  Fiad e arc l@ﬁ?/z‘z 0? The carve 5«; 247 Cosh %)

ol H<h -
\é}ﬁ — F{na) ﬂe VQ%%M&’ {)‘gz The ‘:‘.wftr’&c} gfzﬂgm}f}j }@2; r«@mi\;;na MM{,
Vé?é@ﬂ @}i)&wd{ waf IZM e z} = 2, 522 “5{2 (}«fwg 93
whoul The g,. AHAS -

‘7 'ﬁ%f or f:q/gszf T e;i ﬁwz j;e}«éﬁr ﬂfgfmg%‘wvﬁ“ 0% fé.%}wﬁxﬁ
67(/1» 9{ ”‘:‘ ' \3 *V{S(g/cj fb éfé/Z:md/[cf 27,? I Va

lee of AL, Then The
M~M4/t€j 'Vﬁ%‘@"ﬁ i5 /é‘/(?gr ﬂﬁ'ﬁ Zﬁ(‘ é,ngz(;f vadad .



